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1. IR Sexune BRAIRET W B S weeTd Wefh ame?

(1) =20 ) R @) faaw (4) uH
‘Sustainable international financing scheme’ is associated with which global association ?
1) G20 (2) ASEAN (3) BRICS (4) SAARC

2. PR w2022 91 ‘FiCy e’ g e

(1) <Rm (2) SRS (3) 3we (4) sreefern
Which country launched the ‘COMPETES ACTof 2022 ?
(1) Russia (2) USA (3) UK (4) Australia

3. mmmmwwmmmmmmmm?

(1) == 2 WTTET (3) 4 WY
Which space agency has released the first visible light images of the surface of venus from space ?
(1) ESA (2) JAXA (3) NASA (4) CNA

4 F T 3% Fewd WReE ¥ Rieed (PPS) Aol ot am?
(1) e e PRI 6 e
@) urda ReE 9
(3) I SR
(4) & FAARE
Which institution has developed the “Positive Pay System (PPS)’ for Cheque Payment ?
(1) National Payments Corporation of India
(2) Reserve Bank of India
(3) Niti Aayog
(4) Ministry of Finance

1 FTHTETE AT / SPACE FOR ROUGH WORK PT.O.




www.byjusexamprep.com BYJU'S
Al6 4 m B
5. 'PORNTMICH ORI M REBR—-2021" BN JH HYUIA Al 3182
(1) Soqwmgar 2 <. N, qeEr
(@) S wmIE W (4) . g T
Who has been awarded the ‘International Gandhi Award for Leprosy-2021" ?
(1) Dr. Bhushan Kumar (2) Dr. G.P. Talwar
(3) Dr. M.D. Gupte (4) Dr. Atul Shah
6. TYEF UM 2019 TR HERTE Nrouml e T g9da fedar A @mTar?
(1) ufgen 2 f= (3) Tqan (4) ¥9a
According to livestock census 2019, what is the rank of Maharashtra in terms of livestock among
the country ?
(1)  First (2) Third (3) Seventh (4) Nineth

7. SfIEF YHR MYUIR ARAe Tt o) & — 91 M R fve; * aifrger” S N e Far

me?

(1) < ) = (3) W Wl (4) N B

Indias First RT-PCR kit to detect the Omicron Variant, named ‘Omisure’ is developed by which
company ?

(1) Tata MD (2) Piramal (3) Sun Pharma (4) Apex Pharma

8. oM VAR Peien TT X i el - 85 & DIV SN T<roR STIE 36 ?

(1) <Rmr (2) TN (3) B (4) JTEx.
NROL-85, which was launched recently, is an intelligence satellite of which country ?
(1) Russia (2) Israel (3) France (4) USA

9. <Ry frdia orEaTel Wi (NFRA) ¥ 3egel weu[ HIomd) fFrgerll dRoam el Se?

(1) 3T 9quo gis (2) & frereon

(3) o Sl (4) fopw eI

Who has been appointed as the chairman of the National Financial Reporting Authority (NFRA)?
(1) Ajay Bhushan Pandey (2) Nandan Nilekani

(3) Azim Premji (4) Kris Gopalakrishnan

F=A1 FEIS AR / SPACE FOR ROUGH WORK
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10, e EREM FRET 2019 T I Qe P o gdra IMe*

(a) & FRQT 20 eI 2020 T @Y e,
(b) Q—Wﬁwﬁaﬁaaﬁﬂwmamﬁmmwmﬁmm.
(©) mﬁmﬁmma@mﬁwaﬂﬂmmmﬁﬁmwﬁwmﬁwm

SIOTR AT
T S
(1) R @7 © (2) faem (a)
@) faum ()3 (o) (4) faum (o)

Which of the following statement is incorrect in respect of the Consumer Protection Act 2019 ?
(a) This act came into force on 20th July 2020.
(b) Unfair trade prohibition rules on e-commerce platforms are included in this act.

(©)  As per the rules of the consumer Disputes Redressal Commission no charges will be levied
for complaints upto ¥ 10 lakhs.

Answer Options :
(1) Statements (a) and (c) (2) Statement (a)

(3) Statements (b) and (c) (4) Statement (c)

11. AR Fe@HiE T A1 SARe AAe Wi ST T Feaqul Wb e Ie
(1) < (2) <fEon SR
(3) Wgad 3R9 MR (4) wiE

Which one of the following country has provided instrumental support to India’s ambitious space
mission ‘Gaganyan’ ?

(1) Japan (2) South Koria

(3)  United Arab Emirates (UAE) (4) France

F=1 FHMATE AT / SPACE FOR ROUGH WORK REG.
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12, wofe ey siferar 2021 HeY =R m@.ﬁfﬁmwmm 15. °

TR amy?
(1) smfve. wie b srem Sadh wf
(@) FrEw ywRoTES: e
) SR T o fivad
@) TN o T
The Supreme Coyrt has appointed Justice R.V. Ravindran Committee in October 2021 for which
of the fo Owing purpose ?
(1) IPL spot fixing scam enquiry
(2)  Pegasus Snooping row enquiry
(3) Aadhar Carg Policy confirmation
(4) None of the above
13. PO € Hamery "My CGHS' A1t e wifg Hap
(1) freor damer (2) RFY HHer
(3) wiex e @) WiphE e
Which Union Mlmstry launched "My CGHS’ Mobile application ?
(1) Ministry of Education (2) Ministry of Health
(3)  Ministry of Tourism (4) Ministry of Culture
14.

16€rmﬁmgmﬁtimﬁmfmzoz1mﬁmﬁawmmwmm?
(1) = sRE (2) e (3) wRa @) sl

(1) South Koria (2) Poland (3) India (4) Australia

16
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5. W quiAEd T d -
(a) 2013 Wl R Yo ' A feremel F™ e,
b) T g A federn dee YRA TR
() T Jbad FERTS T 2021 ¥ G HROAT .
T W
(1) o FEY (2) @ el
(3) FON Dol (4) @il MU
Identify the person from the following discription :
(a) In 2013 she acted in the film ‘mai’ for the first time.

(b) The first Indian singer to be nominated for a Grammy Award.

(c) She was recently awarded the Maharashtra Bhushan Award 2021.
Answer Options :

(1) Lata Mangeshkar (2) Asha Bhosale

(3) Krishna Kalle (4) Shanta Apte

16. WRAW G9g 3T oy fgm dewwn fasuen BER IMRIRTa bedr S,
(1) TR 2) 9 FrEasuE SN
3) U (4) wRaren fefea sw
Elections in India for Parliament and State Legislatures are conducted by

(1) President (2) State Election Commission

(3) Governor (4) Election Commission of India

17. Y IogTel FEIfGad] Al 34 PV HeHd TG bl e ?
(1) Fod 194 ) ®deW177 (3) HeM 197 (4)
Which article states that each state shall have an Advocate General ?
(1) Article 194 (2) Article 177 (3) Article 197 (4)

herH 165

Article 165

18. 9RARY QRUFT DR e JEIHAl I Bl WE HA Smeq?
(1) Fed - 163 (2) @ - 166 (3) e - 167 (4) <Hem - 164
Which Article of the Indian Constitution defines the duties of the Chief Minister ?

(1)  Article - 163 (2) Article - 166 (3) Article - 167 (4) Article - 164

F=1 FTTETE AT / SPACE FOR ROUGH WORK PT.O.
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19. 73 =0 WRuM oo oftfrad, 1993 STER TM Geradien var et
@) TINER Frar @ S0
(b) T, g 7 PR warTar e FIO
() TS 7 aalrs fueord R STRT Foq Jo)
(d) TERE S FRREAE EEed B

AT PO /B ey R AR ?
1) w9 (b) (2) ™ ()
(3) W (a) 3y (q) (4) B (b) enfer (c)

New responsibilities given to Gram Panchayats as per 73" Constitution Amendment Act, 1993,
(a)  Enforcement of Land Reforms Act

b) To develop forest industries, small and cottage industries
(c) Facilitate technical and vocational education

(d) To arrange entertainment for the people of the village.
Which of the above statement/statements is/are incorrect ?
(1)  Only (b) (2)  Only (d)

(3) Only (a) and (4) - (4) Only (b) and (¢)

20. WWWWWW.

T S
(1) 9 (a), (b) 3fer (c) @) ®= (b), (o) anfer (q)
(B) ®E (a), (b) 3T (d) 4) =0 w§

Make a group of correct sentences in the
() Gram Sabha is formed from | the

(b) Every voter who completes 18 year
(c) Gram Sabha has election,

(d) All the voters of the Gram Pancha
Answer Options :

(1) Only (a), (b) and (c) (  Only (b), (¢) and (q)
(3) Only (a), (b) and (d) (4) Al the above

composition of the Gram Sabha -
adult citizens of the village,

s of age becomes a member of Gram Sabha.

yat are members of the Gram Sabha.

AT FITEIS AN / SPACE FOR ROUGH WORK
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YIS YT HTARYENT Weleed] HuE) $oy aRER 3 ¢
(a) TSCTET Hol ARTE XISUU MU YerEY RTEd.

(b) NToUUET WG AT I A 9 DA,
() IroOuE e SdEHROTY U aEd) o
() 90 I 1o ResRwia ISl sy YR <TEdw.
TR O

(1) o A8 (a), (b) T () RER 3
(2) W REM (a), (b) T (d) SRR e
(3) W fauM (b), (c) T (d) WK e
4) 99 Agm R M

Which of the following are the correct statements regarding the tenure of a Governor of the
State ?

(@) Governor remains in his office as long as President of India wishes.
(b) Governor may resign voluntarily.

(c) The appointment of Governor is generally for 05 years.

(d) Governor remains in his office until another person takes charge.
Answer options :

(1) Only statements (a), (b) and (c) are correct

(2) Only statements (a), (b) and (d) are correct

(3) Only statements (b), (c) and (d) are correct

(4) All statements are correct

2. A B SR TaRd XTeaNEfee e ?

(1) s A |l (2) TSR MR

(3) e | 4) vagH. Ried wfd
Which of the following Committee is not related to the Panchayati Raj ?
(1) Ashok Mehta Committee (2) Rajmar (‘Zommittee

(3) Thungan Committee (4) LM. Singhvi Committee

23, WWWWE@MWW%?

(1) deorwarg ded (2) W o

(3) areeral FUEMl R (4) <. T TR

Who among the following was the members of the drafting committee of the Indian
Constitution ?

(1) Vallabhbhai Patel ) ]awaha.lrlal Nehii

(3) Alladi Krishnaswamy Iyer (4) Dr. Rajendra Prasad

T FHEES AR / SPACE FOR ROUGH WORK PT.O.
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(2) WRAW TECH HeH 315 ¥ 323 A WG,
(b) ¥ ST IS T FearETEel P FRA,
(@ T AT fae Soen vy USRI YA e Hd .
(d) omvTEN ene q WewdH TP THANTHGT Pedl .
W SN
(1) E (a) 3N (b) (2) PH (a) N (c)
(3) wa (b) S () (4) ™ (b) JMfer (d)
Which of the following statement/statements regarding State Public Service Commission is/are
not correct ?
(@) Provisions in Articles 315 to 323 of the Indian Constitution.
(b) These Commission are working for the State Government as well as the Central Government.
(c) The appointment of the administrative officers selected by this Commission is done by the [
Central Government. (
(d) The chairman and the members of the Commission are appointed by the State Government. .
Answer Options : (]
(1) Only (@) and () 2) Only (a) and () g
(3)  Only (b) and () (4)  Only (b) and (d) 4
27. Tn
25. mmwmmmmmm? (@)
(1) WORT H9E &Y (b)
() IR Hhres wWwu . 8
() PrER I e
(4) e (1)
3
Which among the following features of Indian Constitution is not borrowed from British ég 1
Constitution ? (a) 2
(1) Parliamentary form of Government gb)
C
(2) Cabinet form of Government (d;
(3) Rule of Law (‘l‘glﬁd
(4) Concurrent List (3) 2
\
TR0 e
F=1 FETEE SN / SPACE FOR ROUGH WORK
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Shreen @ga 9 wafg fae.

(a)
(b)

(©)
(d)

e} SIBAEA FHDBY () Ra Iy AFEEH GHE T

v WO, SR WG () Rewd Premgren qeaw e A A8 ey
i YHBI

3t qEe (i) wiier v 9 ReFcRa gfvceed v

eads § (v) e feg erordt T

i W :

(1)
(2)
(3)
(4)

(@)
(b)

(c)
(d)

@ B © @
@) @ @) ()

@ 0 (v ()

™ @ @ @

@ @) 0 @

Choose the correct option by matching the following :

Acharya Bal Shastri (i) Establishment of Manav Dharm Sabha at Surat
Jambhekar

Durgaram Manchharam, (i) Purification of Shripad Sheshadri Paralikar was done who
Dadoba Pandurang was in the custody of Christi Missionary

Annie Besant (iif) Establishment of Normal School and Victoria Institute
Keshavchandra Sen (iv) Establishment of Central Hindu-College

Answer options :

(1)
(2)
(3)

(4)

@ b © @
@ 6 @) G
@ 0 G G
) @) @ Q)
@ (v) @ G

27,

¥ Smres) v / SPACE FOR ROUGH WORK

N T SIPRGRIYN Geled! HIORT oy HEfe B ?

(a)
()
(©)
(d)

Tt B Ryer/fEam w®ER Ie/a?

(1)
()

(a)
(b)
(c)

(d) i
_ iven above is/are
Which of the statement/s given @ (2) (a), (b) and () only

(1)
(3)

I g ARSI
TEE AR
YIRS
Ry

(a) =T (c) Wad (2) (a), (b) 3T (c) B '
(b) aMfoT (d) B 4)  (b), (c) 3T (d) Fary

Gopal Ganesh Agarkar was related with which of the following Newspapers ?

Kesari and Maratha
Varhad Samachar
Sudharak

Swarajya correct ?
(a) and (c) only

(b) and (d) only (4) (), (c) and (d) only

PT.0.



W www.byjusexamprep.com

[BYJus
12 B
A16
26, EIRIR e PR SRR WA R Ry o) am?
@ R e & Al o BRI Ty oy
() 157 T St e AR ST S anfor e et st et <
(©) mmmwmmewwwmwm TR HRIRMTT
feS, wererdve v SRS Sy
(d) ¥RETEn A weor R S o
T
(a) (b) (c) (d)
1) W ¥ W R g fa=. wRex e e for
2) W Tz ame RlEIVRC kT TS et R fa=1. Wy
®) =1 v S el R T ¥ W 9T IEAg
4) WEET s R W 9T g A=, wavex TER ¥
Who made the following statements which caused the growth of Communaligm 7
(@) Hindu and Muslim are two nationg and these are two Opposite countries
(b) The policy of divide an

edience Movement is not totally for freedom of Indig but to
domination of Hindy Mahasabha

(d) Those who are recognizing India as their motherland, India is their nation

Answer options ;
() (b) (© (d)

1) Principal Sir Sayyad V.D. Sawarkar Mohamad Ali
Bake Ahamad Jinnah

(2 Sir Sayyad Principal Mohamad Ali V.D. Sawarkar
Ahamad Bake Jinnah

(3) V.D. Sawarkar Mohamad A} Principal Sir Sayyad

Jinnah Bake Ahamad

(4) Mohamad Ali S Sayyad V.D. Sawarkar Principal Bake

Jinnah Ahmad

1 FIHIS W / SPACE FOR ROUGH WORK
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9. W I €IS T WA AT area e WAl

(a) WEH FI ARG, YT (1885) () it e

(b) T I AREE, FADT (1886) (i) wgaEH TEEe
() TR SHw AR, 7ERT (1887) (i) drereE S
() = PHW ARE, e (1888) (iv) < AR
T S

@ () () (q)
1) @) @) @ @)
(2) @) G@v) @ @
G @) @ @ @)
@ @) 0 @) @)
Match the pair place of the Congress Session and his Presidents name.
(a) First Congress Session, Mumbai (1885) (i)

George Yul

(b) Second Congress Session, Calcutta (1886) (i) Badruddin Tayyabji

(c)  Third Congress Session, Madras (1887) (i) Womeshchandra Banarjee

(d)  Fourth Congress Session, Allahabad (1888) (iv) Dadabhai Naoroj;
Answer options :
(@ () (9 (d)
M) @) @) 6 @)
@) @) @) @ O
() @) @ @ @)
@) v @ @) @)

2 FTTaTs Arm / SPACE FOR ROUGH WORK PTO.
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30. WRATSN TEEEE AT R wreet S fier aeR o ?

(@)
()
(©)
(@

e Piae 7 Wi MR oM AT FITBHR WS aver o,
Y= goaden Flen q1S o AN SEvar .

i W

1)
)
©)

(@), (b) 3mfor (d) faem™ RER .

(a) ST (d) fye™ SRR e

(@), (b) T (c) faa™ R s,

(4) (), (o) sufr (d) Rrery R om,

Which of the following statements are true regarding the development of transport infrastructure
in India ?

(@) The Public Work Department was created during the time of Lord Dalhousie.

(b)  During the reigns of Lord Cornwallis and John Shore road construction gained momentium.
(c)  Broad gauge tracks were built during the early days of the railway.

(d)

Nagpur Council presented ‘Twenty Years Road Development Programme’ to the Government

Answer options :

1)
(2)
(3)
(4)

(), (b) and (d) statements are correct
(a) and (d) statements are correct
(a), (b) and (c) statements are correct

(b), (c) and (d) statements are correct

oA FMMIS AT / SPACE FOR ROUGH WORK
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31, 1R 1866 YN T SO $ee e sreRiger GeSl SE BT B’
(a) I fRreor (b) <o e
() < e d) effe freo
TS PR RAYFE/EN SRR sma?
0 @PE) ) GEaR@ @ Qe (@) (%
What was the aim of East India Association organisation, established on 1 November 1866 ?
(@) Female Education (b) Political Education
() People Education (d) Religious Education

Which of the statement given above is /are correct ?
1) @and®) (2 (Mand@d) (@) (q)only (4) () only

32. TN 1935 T R AN PRINER PR el TFHE] GGG Dol ?

(a) WA BIE (b) Red d& sife SR
() WS X d) T PR

T S

1) @ (3@ 2 (@, (®)7 ()

() @) b)7 @ @ W W
Government of India Act of 1935 provided for establishment of which institutes ?
(a) Fedral Court (b) Reserve Bank of India
(c) Fedral Railway (d) High Commissioner
Answer options :

(1) (), (c) and (d) (2) (a), (b) and (c)

3) (a), (b) and (d) (4) All of the above

33, 1847 7l ¢ 4% 9 BIYH SANGH HRUN FIHIT A ISR Y G aperdy ey Aoyt e
HA BA? |
1) we (2) < e (3) e 4 wwre

In 1847 who was the first to demand the launch of a railway connecting the Mumbai port and the
cotton producing regions ?

(1)  Bright (2) George Layite (3) Willogby (4) Prescott

PT.O.
=21 TR AT / SPACE FOR ROUGH WORK
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34. AFY WIS o,

(A) (B)

(@) 1890, ¥ ARUN @ER WHeA () e eTTaRTE

(b) 1918, IrEATETE TR A AR SR (i) @ aEm

(€) 1918, o v I (i) wErAT T

(d) 1920, sifer SR 2 gfvae wii (v)  TRRIOT Yol e

TR S

@ () (0 (g
M @ @ @ )
@ v @) @ @
@) @) @ @ g
@ @ @) @)
Match the pair.

(4) (B)

(@) 1890, Mumbai Mill Workers Union () Lala Lajpatrai

(b) 1918, Ahmadabad Textile Labour Association

(i) B.P. Wadiya

(c) 1918, Madras Labour Union (i) Mahatma Gandhi

(d) 1920, All India Trade Union Congress (iv) Narayan Meghaji Lokhande
Answer options :

@ b ( (@
W @) @ 6w
@ @) @) @ @
G) (v @) @) @
@ G @) () @

F=A1 FTAE AT / SPACE FOR ROUGH WORK
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35. @eiel faRumawd e eE.
(a) ‘3R R FAHA FE Ha.
(b) T SERTEEE Tl
(0 ¥ R RmerT e
(d) ¥R T BT AT

T S
(1) <R AR ) e HEe
3) o d@ (4) faen aresT

Identify the person from following description :

(a) He started the Newspaper ‘India’

(b) Establishment of Bombay Association

(c) Establishment of East India Association

(d) President of Indian National Congress

Answer options :

(1) Dadabhai Naoroji (2) Gopal Krishna Gokhale

(3) Firojshah Mehta (4) Dinshaw Wachha

36. T WS IO ATS & BUM GREDA B 7

(1) i ggEm (2) WIS e
() faear gAfdare (4) fa=d o
What Dr. Bhau Daji Lad was the proponent of ?
(1)  Female old age home (2) Social discrimination
(3) Widow remarriage (4) Christianity
= FIETETS A / SPACE FOR ROUGH WORK PT.O.
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37. ?TWWWM%WW%?

@) TSR s o R dom Resy Wl s o,
(b) ﬁm'mm'wmﬂma‘rﬁam.
(©) e yary P, feaeam geear e,
() @%mammﬁ#mmmmﬁwm.
I e
@) ®), () R g5 ama 2) @), ®), () Ruw g5 s
©)  ®), (9, (@) sy T AT (4)  (a), © R g amq

Which of the following statements are false regarding revolt of Santhala ?

(@)  Economic exploitation of Santhala is presented in Punjab Review.

(b) Santhala declared the decision of establishment of ‘State of Truth’.

(©)  Kanhu the leader of Santhala was treacherously kidnapped.

(d) O Mauli, the officer gave the report of duel of Santhala.

Answer Options :

(1) (@), @ statements are false () (a), (b), (c) statements are false
3 (®), (o), (d) statements are false (4)  (a), (c) statements are false

38. ﬁmw@wmmwm?

(@) =R [ T - (b)) ST SE

(c) onf¥s wewiax friso (d) R e fery w0

TITH DR Re/Rem R e

M @G . @ Gafre @) (©wm @) ()
Which of the following was the aim of ‘Trading Economy’ of British Government ?
(a) No Trading competition (b) Maximum profit

(c) Control on economic factors (d) Economic growth of India

Which of the statement given above s /are correct ? .

(1) (a)and (b) (2)  (b) and (o) () () only (4)  (b) only

ST FHHTEIE AT / SPACE FOR ROUGH WORK
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39, TR YRS oraRITE W W Pro e G B
(a) TS ORI JMRDR (b) frRrorerEl HeEd
() TgIE TS (d) =, d
T S

(1) (@), (c) 3T (d) W

@) (b), (o) T (d) P
(3)  (a) ST (b) P

@) (o) 3nfor (d) P

m BYJU'S

Al6

Which of the following personalities were related with Bombay Presidency Association

Organisation ?
(@) Gopal Ganesh Agarkar

Firojshah Meht
Answer options :
(1) (@) (©) and (d) only
(3) (2) and (b) only (@ (), () and (d) only

4)  (0) and (d) only

4. RSARELEI L B o T S —

() AR wRiew @)  RESR
b) =i gy o i) Yeig

©) ST (i) Tuf oy gy
(d) MR IEOR (iv) TaawT®
T S

@ ® ( (@
D)@ @ @ @)
(@) @) @@ @) @
) @@ Gv) @ @)
4) (v @) @)
Match the following organizers of the Secret Militant Or

Wy ganizations in Maharashtra and their
(@) Shridhar Paranjape (i) Amravati
(b) Dr. Siddhanath Kane (i) Belgaum

(c) Dadasaheb Khaparde (i) Wardha and Nagpyr
(d) Gangadhar Deshpande (iv) Yavatmal
Answer options :
(@ () (¢ (9
) @) @@ @O G
(2) @) @) @) @
(3) (@) @Gv) @ @
(4) Gv) @) (@) @

TS FTRTS ST / SPACE FOR ROUGH WORK

P.T.O.
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41.
JAMR?
) T S aRRed (@) TERE g wehea
©) SRS Sisaemar s 4) 7 afER R
F °1!°Wing are some of the problems in the agriculture sector in Maharashtra. Which one is more
Social in nature ?
(1) Adverse weather condition (2)  Limited Agricultural research
() Lack of financia] capital (4)  Fragmentation of farmland
2. TERTSTR YR SR-R0T da BT Yda/RR ama?
1)  wmger (2) <ipmERy
) T 4) =
Which is the mountain/hill situated on the North-South direction of western Maharashtra ?
(1) Satpura (2) Shambhu Mahadev
(3) Satmala (4) Sahyadri
43. WW'W'HWWWWW 3Me?
(1) ETHER (2) o (@) #H& (4) =
The multipurpose project of Gujarat “Ukai’ is situated on which River ?
(1) Sabarmati (2) Tapti (3) Mahi (4) Narmada
4. WRAE A Rren gavl b womm.
(1) T (2 R (3) @rgH 4) Xm
In India is called as a ‘Golden Fiber’ crop.
(1) Jute (2) Wool (3) Cotton (4) Silk
45. HERTSCHAE] TEEMSIE 63 WAehe B R smia?

(1) adf (2) Rre (3) gerarom @) Riggd
Iron ore reserves in Maharashtra are located in the district of :
(1) Wardha  (2) Nashik (3) Buldhana (4) Sindhudurg

=1 FTTETE AR / SPACE FOR ROUGH WORK
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6. TENTS N0 T ARSI T Y F@l.

(1) 1986 (2) 1987 (3) 1988 i

Maharashtra State Agricultural Marketing Board is established in .

(1) 1986 (2) 1987 (3) 1988 (4) 1983
7. TR T ARAr e IR e weamy aw o,

(1) == (2) =fe=an 3) wisan 4)  BIETHT

. . ( ) (

One of the following is an important port situated on the west coast of India.

(1) Chennai (2) Haldia (3) . Kandla (4) Kolkata
8. 2019 TR HRANA STl SIS Tiemar qrer fpd) e amy?

(1) ?.0% (2) 8.4% () 7.3% 4) 9.34%

What is the percent share of tourism in India’s domestic income as of 2019 ?

(1) 9.0% (2) 8.4% B) 7.3% 4) 9.34%
9. TiemTe e Sifdn drem e Rer arererey <row o

(1)' .vﬁaq RIS (2) sifee () ®iNTS (4) ¥em yegr

Bhilai Iron and Steel Industry is located in the state of

(I)  West Bengal (2) Odisha (3) Chhattisgarh (4) Madhya Pradesh
50.

<o

Ty WM / SPACE FOR ROUGH WORK

-

mmwnﬁwnmwmmwmmmw.
(1) = sBre F4 T |

(2) W IS JYERE a6
() RS wmeR gg
(4) olrenfirexomer smvE

In the decade of 1911 to 1921 the Po
The reason behind it is

(1) Low birth rate during that period
(2

(3
(4

) High death due to epidemic
) More deaths due to flood
) Lack of industrialisation

~—

pulation Growth in the State of Maharashtra was negative

P.T.O.
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51, wrr wrmde e dad S e e, PRI
(a) wH W SrER T 3.
(b) T AT e €Y .
() T W o SYersdl T SR
(d) THOT W FER R Il
TR PR R/ aRER A7
1) @i (2 P (b) @) @afr@ (4 ®I(d)

The population is decreasing continuously in rural area, because :

(@) The birth rate in rural area is low.

(b)  The rural people are migrating to urban area.
()  The employment is not available in rural area.
(d) The death rate is high in rural area.

Which statement/s of the above is true ?

() (and() (2 only(®) 3) (@and(d) (4 only(d)
52. WERTSIA H' AU {RMERT Q99 |l S EIRENISEC IR

(1) frIRS=T g (2) uREH HERTE
| - (3) RTEETEI 4) T R
A; The average highest temperature in the month of May is recorded in region o
'V Maharashtra.

(1) Coastal Region (2) Western Maharashtra

(3) Marathwada (4) Eastern Vidarbha

53, HERTSSIA ST YRAM el B €RUr HeT e Bt ?
(1) 2017 (2) 2018 (3) 2019 (4) 2020
When State Government in Maharashtra has declared the Blue Revolution Mission ?
(1) 2017 ' (2) 2018 (3) 2019 (4) 2020

<=1 HTATATEl TR / SPACE FOR ROUGH WORK

e



B

54

www.byjusexamprep.com m BYJU'S
23 Al6

et faE AT B 3rg?

(@) I TRET HieaerEr A AR S e T

(b) I TSRS AR IRAE St - e T A T T,
i S ¢

(1) (@) o (b) e e s

2) (a) 30T (b) A7 fyEr M.

(3) (a) RrEmT gH ST (b) fe A (Rw) 3.

(4) (a) TEF AT (RR) T (b) RO g oM.

Following statements are correct or incorrect ?

(2) Commercialisation of agriculture did not promote capitalist - agriculture.

(b) Commercialisation of agriculture intensified tenancy and share-cropping.
Answer options :

(1) (a) and (b) are true statements
(2) (a) and (b) are false statements
(3) () is false and (b) is true statement
(4) (a) is true and (b) is false statement

3. TERTCTA TAMIR WeActd! PR Tpfie avel i S URom sien ams?

(1) WERTSCI T@ETY ToR (2) HERY 9EE MO WRgST SRR <
}) fFR R d=m 4) YEES <He

Which of the following physiographic factor predominently influence on climate of
Maharashtra ?

(I) Deccan plateau in Maharashtra (2) Sahyadri mountain and Satpuda range

(3)  Coastal plains (4) Mudkhed hills
6. W 201718 WY AR il e R U@ (FDD) 28.6% o1 e 2.
(1) Oyor e (2) ST &
G) fooe sl oo amr (4) frdim @@
I[I)‘lcli{h\g 2017-18 Foreign Direct Investment (FDI) was highest 23,6 percent in sector in
1a.
(1) Communication services (2) Manufacturing sector
() Real and Wholesale trade (4) Financial services
R W / SPACE FOR ROUGH WORK PT.0.
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A 2020 AR PO T WANG SR wq Heeid @ wafuD B ?
(1) oed 2) ATy 3) TR (4) VERT

In which state the number of Primary Agricultural Credit Societies was highest at the end of
March 2020 ?

(1) Karnataka (2) Tamil Nadu (3) Gujarat (4) Maharashtra

58.

$A ST eprdl ST IS wiqen e s ewia @ R e =5
(a) WHESE 25 T R,

(b) YIS TR RS 335 TRE R,
(€) NIoUEl RS STl TS 16,5 TFF R

(d) TUHNA ST IS 25 TRF R
NI PR/ Rg=/A A e ?

(1) P (a) M7 (d) T s (2) Pa® (b) PN (c) IFT oM
(B) HaS (a), (b) PN () A M (4) 5T (a), (c) T (d) A S

Consider the following statements in the context of Seventh Finance Commission for distribution
of the states share of the central excise d

uty :
a 25 percent weightage for po ulation.
P ghtag Pop

(b) 33.5 percent weightage for poor in each state.
© |
(d) 25 percent weightage for income equilisation between state.
Which of the statement/s given above is/are correct ?

(1) Only (a) and (d) are correct (2)
(3) Only (a), (b) and (c) are correct (4)

16.5 percent weightage for increase in the per capita income of the state.

Only (b) and (c) are correct
Only (a), (c) and (d) are correct

59.

AR VT G FHEEl HEAT BRUANS], 2021-22 =1 srefaaarg 10 sramen aftis deed
eIl T FES T 2217 DI YS9 HROGTET YA S,
(1) 32 (2) 42 (3) 52 4) 62

ide @
To tackle the burgeoning problem of air pollution, the 2021-22 Budget proposes to provide
amount of ¥ 2217 crore for urban centres with a million-plus population.

(1) 32 2 42 (3) 52 4) 62

FH=AT FHETA AW / SPACE FOR ROUGH WORK

o
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e ST FERET TEE (CAG) TFT JRAU S qReporsy el JvaTen SR ORI Tl iR

e W WANRE _ Rawren o o g sigarene) 9 il $% AHAI.

1) 30 fEaw 2) 60 feaw (B) 90 fagw (4) 120 feaw

Comptroller and Auditor General (CAG) has a right to order conduct of supplementary audit and
he may also comment upon the audit report within days from the date of receipt of
audit report.

(1) 30 days (2) 60 days (3) 90 days (4) 120 days

L WWWWWNOO%WW@[?
(1) I T FR ROy

B) N S AT W

2 Wb e

(4) I g T Fig Rewruar EIRSIES
Which of the following is not objective of National Population Policy 2000 ?

(1) Reduction in infant mortality (2) Universal immunisation
(3) Mid-day meal for poor children (4) Incentive to ado (o) |
t tw i .
y P child small farmly

62. 1993 98] WRaRy

(2) wied oo
(4) Hd. dR

The Government appointed a C mmittee in 1993 on Disinvestmepy ; _
under the Chairmaiihip of y ttef? B “in Public Sector Enterprises

(1)  G.V. Ramkrishna ) Montek Ahluwalia

(3) C. Rangrajan 4) CP. Chandrashekhay

\\—\—‘

F=1 FTETE AR / SPACE FOR ROUGH WORK PT.O.
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@re fagm faRE =/ |
(a) ﬁﬁmmﬂﬁﬁﬂﬂm(ﬁm)mﬁﬁzomq@wm.

) Sq fyear T SAERIGST T Pl S,
© S f < w4 RAERS IS S .

) PoR/& R/ A /A

(1) P (a) ST (b) AT I ) T (a) AN () I e
3) P (b) 3R (c) A e @) e wd AT e
Consider the following statements :

(a) The Deposit Insurance and Credit Guarantee Corporation (Amendment) Act, passed by the
Parliament in 2021.

(b) The deposit insurance premium is recovered from the depositors.

(c) The deposit insurance premium is compulsory for all insured banks.
Which of the statement/s given above is/are correct ?

(1) Only (a) and (b) are correct (2) Only (a) and (c) are correct
(3) Only (b) and (c) are correct (4) All of the above are correct

64.

mwmwsoﬁwssmmamw%mﬁmﬁhmﬁaﬁaﬁmwaﬁ?
(@) 9IREI PIIS

(b) TN IRURI ArBEE

(c) HIvT HoiEreIaen

(d) TV FEUINT EIF PG AR

A S -
(1) aS (a) M0 (d) (2) 9IS (b) I (c)
(3) ¥ (a), (b) 30T () (4) P9 (b), (c) T (d)

Which of the following were the reasons for small land holdings during 1980 to 1985 in India ?
(@) Law of inheritance

(b) Rapidly growing population

(c) Rural indebtedness

(d) Rapidly growing joint family system

Answer Options :

(1) only (a) and (d) (2) only (b) and (c)

(3) only (a), (b) and (c) (4) only (b), (c) and (d)

FoAl FEEIA AT / SPACE FOR ROUGH WORK
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65. IARY SirsAl Jol ¢
(a) < fEr i P S (i)
(b) <R |aE G G HEfed A S (i)

(€) e Aeifrbiexome SR SRR S (iii)
(iv)

(d) ¥EOF dFEEED AR
T W :

@ () () (d)
O @ O @
@ @) @ 0 G
@) @ O @ G
@ @ @ O @
Match the following :
(@) Second largest agro based industry in India 6)
(b) One of the oldest and organised industry in India (ii)

()
@)

(c) Industry leading to rapid industrialisation
(d) Use of new technology
Answer options :

@ ® © @
M @ O @ @
@ @ @ 6O
@ @ O @
@ @ @ 0 @

BYJU'S
m Al16

it s S
e g el ST
qrREx SErT
e Sanl

Cotton industry

Iron and steel industry
Sugar industry
Automobile industry

66. OB C MMV THHRNIC TS WO ARAd BRbIel
(1) foiE ge 2

ANTED IS (3)

(1) Fiscal deficit (2) Budget deficit (3)

wafie Je

The difference between fiscal deficit and interest payment during the year is called

Primary deficit: (4)

FROTAId

(4) wEgel ©

Revenue deficit

FoA1 FTATETE AR / SPACE FOR ROUGH WORK

P.T.O.
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67. wrter fyum fara =

68.

(@) Wyt 9T SR AT (SGRY) WeaR 2001 He ge eI el

(b) W T TR T AR T Ao (MGNREGS) garl 2006 FEH g PRUART e,
(©) TS ISFIR WS (NRY) SRR 1989 Hedr oy e GRIETS & LOART I,
R e Rym/Rumited SR Rus/fay A 37T/ 3T ?

(1) (a) e @ )W @ @IGTE @) @FTOQTF
Consider the following statements :

(@) Sampoorna Grameen Rozgar Yojana (SGRY) was launched September 2001.

(b) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) wiae
introduced in February 2006.
(©)

The Nehru Rozgar Yojana (NRY) was launched in October 1989 for the benefit of the rural
poor.

Which of the following statement/s given above is/are correct ?

(1)  (a) only 2 (b) only () (a) and (b) only (4) (a) and (c) only

2016 & . R wfd & 9 weiftrg e,
(1) IRm@ & smamr

(2) IR YEEE Do

(3) <h<mEr faw s

(4) ol Sereer anfor srefvidednr wawenT B
N.K. Singh Committee of 2016 is related to

(1) Twelfth Finance Commission

(2) Twelfth Five Year Plan

(3) Fourteenth Finance Commission

(4) Fiscal Responsibility and Budget Management Act

69.

WAl HIUEl ARG R e R e s 5 2

(1) %=X (2) ARE THTR

(3) NIE IEE YA @) ufE ngar vy

Which of the following is not a quantitative monetary measures of Reserve Bank of India ?
(1) Bank Rate (2) Moral Suasion

(3) Cash Reserve Ratio (4) Statutory Liquidity Ratio

FoAT FHTHETS AT / SPACE FOR ROUGH WORK
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0. TSR, e S g A% WD it A i <ot gaped TN Wi AT
TURTATT AT ?

® | A 4) AN Goafes A
During which five year plan three major stee] p] ts i . re built up at Rourkela,
Bhilai and Durgapur ? Plants in the public sector we

(1) First Five Year Plan (2)  Second Five Year Plan
(3) Third Five Year Plan (4) Fourth Five Year Plan

71. mmmmwmmm

+OTdId .
(1) st @ @ ¥ @ Wi
Light enters the eye through thin membrane called the
(1) Iris (2) Pupil (3) Retina (4) Cornea
7% uﬁaﬁm@ﬁ,maﬁmmmmmﬁam IYeT,
(1) 17 MeWean a9 (2) 17 A& S fbar 17 Grex
(3) 7 Wexven w9 (4) IND BORE Ty
Echo is heard if the distance between the source of sound and the obstacle g
(1) Less than 17 meters (2)  More than or equal to 17 meters |
(3)  Less than 7 meters (4) None of the above
. et woran v e Farmar i W o ?
1) =rgs () deghfem  (3) @™ (4)  =idy
Which of the following substance has the highest thermal COnductivity ?
1) Wood (2) Aluminium  (3) Glass (4)  Silver

= ¥RV AR / SPACE FOR ROUGH WORK PT.O.
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o U ASTHE, TSIl P |aT & h/2w A1 GRATMEN ARAST o I,
FERETS 2) STeed @) = (4)

model of an atom, the angular momentum (mvr) of an electron is an integral multiple

of the quantity h/2m.

1)

Rutherford’s (2) Dalton’s (3) Bohr's (4) Fermi's

e TG R SRR, T R S SUiay FAME HRAw ¢

75.
(1) NO; ¥ NHj A= (2) N,¥ NH} A=
(3) NHj ¥ NO; #&l 4) NO; ¥N,#e
During biological nitrogen fixation, nitrifying bacteria convert
(1) NOj to NH; (2) N,to NHj
(3) NHj to NO3 (4) NOjz toN,

76. @R gard faud faer.

(1)
@)
€)
4)

Yupeliel ST Fa & Y HEITA SR GHEM TR B,
ST Yu] BEME I Fe@HL A T AT BR P 3.
TS AU SrpeiE ST X0 FEN Bl & W .

o*, m*, 5%, S Freil SifEaife Y] Her Seffdedn .

Choose the incorrect answer :

1)
)
€)

(4)

Bonding molecular orbitals are formed by the additive effect of the atomic orbitals.
The electron density in the internuclear region in bonding molecular orbital is very low.

Energy of the antibonding molecular orbital is higher than that of the combining atomic
orbitals.

Antibonding molecular orbitals are represented by o*, ¥, *, etc.

F=1 FEE AT / SPACE FOR ROUGH WORK
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77. @RI Wredl ol

() YEEH Higed () fewrefras

(b) SIS AT (i) Y |

(c) =R IEEred (i) =gRICirTS

(d) T SREN (iv) & oy

I S :

@ (® (© (@
1) (v) @@ @
(2) (@) (@v) @ @
@ o @ @) ()
(4) @ @ @ @)

Match the following :

(@) Python molurus (i) Haemotoxic
(b) Naja naja (ii) Blind snake

(c) Viper russelli (iii) Neurotoxic

(d) Typhlops braminus (iv) Non-poisonous

Answer Options :

@ () (o (4
1) @) @ @ @@
(2) @) @) @ @
@) O @ @) ()
4) @) @ @ )

78. GRS HIUCI/HIoA Yo /JUarET e & WUV U A1 S Aredre?
() U, WY, 9@ 3T AN
(b) PrHd, BSHE, HAT M7 AR
(c) oMa, TR, Jeriex 3T I
(d) Woder, G, PHa AT I§F

A = :
(1) @ (b) (2) wa (b) 3N (c)
(3) W (c) 3PN (d) (4) e W

Which of the following is/are group/groups of reptilian animals ?
(@) Lizard, Snake, Frog and Loris

(b) Turtle, Gharial, Caiman and Tuatara

(c) Turtle, Crocodile, Salamander and Lizard

(d) Salamander, Catotes, Turtle and Frog

Answer Options :

(1) Only (b) (2) Only (b) & ()

(3) Only (c) & (d) (4) Allof the above

T.0.
T FMIETE AN / SPACE FOR ROUGH WORK PT.
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79. SRfergrer dRTE RoEl Welleld! Qg %9 B ?

(1) gel, EASIeysl, Afher, e

(2) gen, SR, WERE, Tagega

(3) WRFEM, @I, TSI, SR

(4) TOgeYSl, X1, g, ARt

Which one of the following is the correct sequence of larval stages of Aurelia ?
(1) Planula, Hydratuba, Scyphistoma, Ephyra

(2) Planula, Ephyra, Scyphistoma, Hydratuba

(3)  Scyphistoma, Planula, Hydratuba, Ephyra

(4) Hydratuba, Ephyra, Planula, Scyphistoma

80. w1 wi & S s, W IR PO T Aredr?
(1) s (2) e+ () <RIsERE 4) frenTg
Plants whose seeds are naked, are classified in which group ?
(1) Angiosperms  (2) Gymnosperms (3) Tracheophyta (4) Cryptogamms

81. WRYMT Yzamier dediciier RiT e e Saear aRom Svar $ror w=ory
(a) S drarn g awige
b) P a6 Yeeurs
(c) urT=a fladqume
(d) YR aRf=n S
TIRH SR fegm/Ram =R M /ema?
1) (a) ®F @) (a) ST (b) B
3)  (a), (b) ST (c) B (4)  (a) ST (d) B
Irrigation in the fields of saline tract affects the productivity of crops because of :
(@) Degradation of soil structure
(b)  Growth inhibition of plants
(c) Leaf discolouration
(d) Salt accumulation in soj]

Which of the given above statement/ statements is/are correct ?
(1) (a) only (2) (a)and (b) only
(3) (a), (b) and (c) only (4) (a) and (d) only

o1 FMATE T / SPACE FOR ROUGH WORK
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82. IHARF P /U HY?
(1) vEERd dfd<T aRaR Aom
(2) TEEn yeEE I
(3) TN VR Iuigay Srum
(4) TEEN YU N O SUTRT

How the occurrence of Endemic pest is defined ?

(1) Occurs frequently in months
(2) Occurs in few localities
(3) Occurs in the same area year after year

(4) Occurs in an area in severe form

83. Weflerie! HIUIT fawT] v weRirg TE Waims) Wl g fhar orgREM <ifie ddume
TERAN ?
(1) S faumg 2 T TRE  (3) fiermdw o (4) RieEdw g

From the following viruses, which one transfers from one person to other via infected needles or
unprotected sex ?

(1) Dengue virus (2) Rota virus (3) Hepatitis A (4) Hepatitis B

84. TEigeTHU HRUTRTS Welleed! HIUMET ai9” el ?

(1) T g (2) S

(3) TPRS v (4) wfeTm FEie
Which of the following is used to disinfect surfaces ?

(1) Ultraviolet light (2) Autoclave

(3) Infrared light (4) Sodium Carbonate

85. IV WS & M T Sy oaen?

(1) g ureex 2) TSTS W
| (3) 3T wRIfiT (4) O AT
‘{ Which scientist discovered small pox vaccine ?
(1) Louis Pasteur (2) Edward Jenner
(3) Alexander Flaming (4) Selman Waksman
¥ FATETES AR / SPACE FOR ROUGH WORK P.T.O.
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86. ot Tormed 80 Werg A, WA 36 WaTg, HASE Wawiid d 48 Warg, fbdT WIHM. TR 12
TS 7 frde ¥ AR We Wad AT @) ) oI Forg Hace! el fhdT W il 5

(1) 20% ) 15% (3) 10% 4) 5%

There are 80 players in a club, of which 36 play Kabaddi and 48 play Cricket. If 12 players play
EOth Kabaddi and Cricket, what is the percentage of players who do not play either Kabaddj aF
ricket ?

1) 20% 2) 15% 3) 10% 4) 5%

87. Rfte Yo Meaindier yawa A5 TV Gy e U oM.

s>
20%
et M TS Q

19%

24%
mets
‘«g\‘%

YARIET TRUT HEA = 8500 3 WX MY S, M onifdr L g fe wwmy yawh wen fai?
7 (1) 1521 (2) 1641 (3) 1672 (4) 1651

The percentage distribution of passengers in different trains are shown in the following pie-chart.

Total number of passengers = 8500. What is the average number of passengers in Trains S, M and
L together ?

(1) 1521 (2) 1641 (3) 1672 (4) 1651

<=1 FTHTATS! W / SPACE FOR ROUGH WORK
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88. IMTIEIT
awms‘i’moﬁsﬁmmseolaﬁmﬁ'giﬂ?ﬁiﬁ:mwwmm
(4) 3

poles. The distance be
Then how many hour

(1
) 7T 2) 6am o 5

Travelling i

In a i i
R polesg i traem, a person is counting the number of electric
tw metres and the speed of the train is 40 km/hour

person require to count 5601 poles ?
(1) 7 hours (2) 6 hours

tween the
S Wlu t}le

(3) 5 hours (4) 3 hours

89. o=y e % q fRige WS A ST, @m@wmﬁmmmﬁﬁm

a@aﬁﬁmﬁﬁmﬁwm/aﬁa?
@) %g%mmmmmnwm_
(ii) quﬁmmmﬁigwmqs&ang
(iii) qugy SE ARSI HEas IE.
o S
(1) ey FET (i) T (i) SRYSY SET
) qﬁﬁﬁm#(i)anﬁr(iﬁ)aﬂa?an%a
3) mﬁaﬁ(ﬁ)m(ﬁnaﬁwmﬁ
() fEE @), (i) s (iii) SRS ST

4 tree is near the Lem

Mango tree is in the middle of Gauva and Lemon tree. Papay
near the Mango tree and Gauva tree. At the right side of Papaya tree is Coconut tree but a

side of Gauva tree no any tree.

Which statement/s of following is/
(ij Lemon tree is petween the Papaya and Mango tree.

(i) Papaya tree is petween Coconut and Lemon tree.

r Coconut tree.

on tree but not
t the left

are correct ?

(i) Papaya tree is nea

Answer Options :
(1) Only (i) and (ii) statements are correct

(2) Only (i) and (iii) statements are correct
(3) Only (ii) and (iii) statements are correct

(4) (i), (i) and (iii) all statements are correct

= FTEs -
ard AT / SPACE FOR ROUGH WORK
- .o'
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90. A,B,C,D,E Nl Fy@ e SH . BE F anfor D = AEd ST ST, EEIAelTﬁIq(i:nq@W
mﬁ.AaFﬁﬁTDWaﬁﬂgﬁﬁlﬁ.Cmeaﬁﬂgﬁm@l. F & Dol Sl 9 9 gy
(1) B D (2) BT A (3) BoTE (4) BamRrC

i B is between F and D. E is between A and C.
i ts A, B,C, D, Eand F are standing a row. - .
SAldet:sdf’lr(;tsstand next to either F or D. C does not stand next to D. F is between which of the

following pair of students ?

(1) BandD (2) Band A (3) BandE (4) BandC

91. mﬁamwmﬁﬁwwﬁaﬁmﬁmm?

12 | 18
40 55 22
? 79
18 i 20
12 | 13
1) 116 @) 111 3) 114 4) 112

What will be the number at the place of question mark ?

12 | 18
40 55 7
? 79
18 45 20
12 | 13
(1) 116 2) 111 3) 114 @) 112

o1 FETATE AN / SPACE FOR ROUGH WORK
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37 A16
92, U W] 3O Aadred fqeneai=an A, B,C, D
e T Fe TeRe o wwm.mmwwm
ghe-A | gHSI-B gasi—C gasi-D |
< Thaa gt fens 24 25 15 17
TEATd whaT sl wg A odT ol fendf | 14 13 18 18
FETE Toee St 1Ry A wia arget fendt 8 17 11 15
70

D e Sl faendt 64 55 46

93.

e —————e

maﬁﬁﬁmmw@%mmmmwmﬁ?

(1) B (2 A @ D 4) C

A school has four divisions A, B, C and D of ninth standard students. The results of half-yearly

and annual examinations are shown in table given below.

No. of students

Result Section A[Section B{Section C Section D
students failed in both examinations 24 25 15 L7
students failed in half-yearly but passed in annual exams 14 13 18 18
students passed in half-yearly but failed in annual exams| 8 17 1 15
students passed in both examinations 64 55 46 70

Which division has the maximum passing rate in the annual examinations ?

1 B 2 A (@) P 4 C

THT Hibiad WRED=93ﬂﬁTBLUE=1oa‘\fWHITE=?
1) 13 (2) 15 @) 17 @) 19
In a code language, RED =9 and BLUE = 10. Then WHITE =?

1 13 (2) 15 3) 17 4 19

a1 FFTATATE AT / SPACE FOR ROUGH WORK PT.O
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FRT,
e @) ke TR Rledd wid e qed
(i) e e R e e g AR A D
T O
(1) e e (i) TR
() e TS (i) WK
() TEE (i) S (i) T IR
(4) T (i) ST (i) A ISR e
Find out which assumption is correct from the given statement.

Statement : ‘Cigarette smoking is injurious to Health’, this information is given on the cigarette
packet, because, '

Assumption : (i)

People read the information given on the cigarette packet.

(i) Many people take seriously the warning given on cigarette packet.
Answer Options :

(1) Only (i) assumption is correct
(2) Only (ii) assumption is correct
(3) Both (i) and (ii) assumptions are correct

(4) Both (i) and (ii) assumptions are not correct

95. TR T FER, A M SR I 13 13 Riad W wwifie s o N Y S R
P10 Z wier R S —13 —12 T eede ) SUCCESS seifion=n quterd 3w fd
I ?

1) -11 @ 11 (3) 16

4) 20
If the letters in the English alphabets, A to M represent number from 1 to 13 respectively and N

represent zero and the letters O to Z correspond from —1 to —12, what will be sum of integers for
SUCCESS ?
1 -1 2) 11 3) 16 (4 20

96. IATHA 11 97 Aefier i wegidl ORI Plal.

(1) 47 (2) 37 (3) 48 4) 49
Find the average of natural numbers between 1 to 97.
(1) 47 2) 37 (3) 48 4) 49
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250 QX FEE Y A 45 R A, AT T, R 250 A, e wowt aiereardl
3o mE?

(1) 36 ¥ha (2) 40 WHS (3) 50 Wag (4) 45 9PS
A train 250 metres long running at a speed 45 km/hr, how long does it take to pass @ platform of
length 250 metres ?

(1) 36 Seconds (2) 40 Seconds (3) 50 Seconds @) 45 Seconds

Ambmmlswmemﬁmmﬁmﬁ

qof FAl T A TP
o o frd e Tf FXa?
1) 60 (2) 45 (3) 40 4) 30
If A and B together can complete a piece of work in 15 days and B alone in 20 days. In how many
days can A alone complete the work ?
(1) 60 (2) 45 (3) 40 (4) 30
99. iﬁﬁﬁﬁwwaﬂ%mﬁﬁm. gaRa @ T, 59, Srea T fade. SR el
TS fbTd S 2014 R AR R @R fm feer?
(1) =9 2000 2) w2011 (3) w9F 2020 (4) BT 1900
Ravi sold an article to Sudhir at a profit of 6% who in turn sold that to Gopal at a loss of 5%. If
Gopal paid Rs. 2014 for the article, find the cost price of the article for Ravi:
(1) Rs. 2000 (2) Rs. 2011 (3) Rs. 2020 (4) Rs. 1900
100.

Wwww4mmmmmmm6ﬁuﬁmmmm.mm
T VT R o e ¢

1) ssfedaE (@ SPEAE () 42T () 56 e/
A man goes to Mumbai from Pu

ne at a speed of 4 km/hr and returns to Pune at a speed of
6 km/hr, What is his average speed of the entire journey ?

(1) 4.8 km/hr 2) 5 km/hr 3) 42km/hr (4) 5.6 km/hr

-00o0-
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